ALGEBRA 2

Simplifying Radical Expressions

Simplify the following Expressions

1. V2432 5 8V5+6V5 5 V6+246

4. ANT+37 5. 8310 ++/10 6. TV3-23
7,106 -840 PN TR 5, -85 41013
10. 3V2 -8 11 V27 +443 12. V124343
13. V28 +6V7 14, V312 15 V18 -22
16. 6‘/5_\/3_2 17. 9\/3—\/% 18_\/ﬁ+\/ﬁ
19. V32 -8 20, W3-12 51 V184427
22. V284432 23, V48 -12 24 V27 +4/75

Solutions

1 5V2+3V2 =82
3 V6 +26 =316
5. 810 +4/10 =910
7 106 -8v6 = 26

9. ~8/15+104/15 = 2415

5 8J/5+6y5 =145
4 WT+3T=77
6. 7\3-243=53
g 2\11-611=-4/11

10 3V2-8=3V2-2{2=2



11 V27 +43 =33 443 =743 b 2+33=23+33 =53
13. V28 + 637 =27 + 647 =87 1 SVB-12=53-203 =33
15 V18-2V2=3V2-22 =2 16. 6V2 32 = 6v2 42 =22
17 RW5-20=9V5-25-75 18 V12427 223433 =53
19. V32 -8 =4y2-22 =22 20 AB-V12 =5 43-23=23
21 V184427 =32 4343 by N2 -B+\32 =2 - 224442 =32

53 V48 -12 = 43-23 =23 54 27 +4/75 =33 +25J3 =283



